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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in 5. Today is Sunday. The day before
the blanks with suitable articles like yesterday was
‘a’, ‘an’ and ‘the’ : (A) Tuesday
1. In this school, all students (B) Friday
are given free education. (C) Thursday
EA) an (D) More than one of the above
B) a
(©) the (E) None of the above

(D) More than one of the above

(E) None of the above 6. November comes after the

month of
2. I have a friend in Mumbai who (A) September
i(Z)— actress. (B) December
(B) :n (C) January
(C) the (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above

7. Husband’s brother is
3. Which of the following is not

a river? (A) cousin

(A) Bay of Bengal (B) son

(B) Godavari (C) brother-in-law

(C) Ganga (D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

4. Which of the following is not 8. Mother’s parents are

a part of drawing room? (A) son-in-laws

(A) Washing machine (B) maternal grandparents
(B) Chimney (C) paternal grandparents

(C) Sofa set

(D) More than one of the above (D) More than one of the above
(E) None of the above (£) None of the above

23/MAV/M-2023-10/S3 (S)/117-A 2 NN OO TR ORI



9. fuefaftgd d 4 wm-w1 ‘yem-ted

10.

11.

12.

ITeg 77

(A) g1

(B) wafagd

(C) Sgar

(D) 39w H ¥ UH ¥ M+
(E) Sudth # & #1$ T

oo T gk qiTT B

(A) TR =1 9a gehe FA 9ren wdw

AfTEYE AT FHEATl
(B) fo=m =1 wma =t fafu-fugi o wehe
T ol W FEd ©

(C) TR a1 9 Uehe & T WIeH
e 2

(D) 39w | ¥ TH ¥ M
(E) 30 | ¥ 18

TR % fohad TR 7

(A) =

(B)

(C) =m

(D) 3w W | TH A Afh
(E) 39t o & g 7

T T HE-4T 87

(A) 1

(B) sm

(©) %

(D) 39w H ¥ UH ¥ M+
(E) 394 # & hrg 7

23/MAV/M-2023-10/S3 (S)/117-A

3

13.

14.

15.

16.

IHANO & MY G SASHI okl TfieRor
forae vt © foram ST eRar 27

(A) =

(B) @

(C) 313

(D) 3 U | UH A Afh
(E) 393t o & I8 T

‘Sreqmr’ el wE-wt 27
(A) @

B) =

(C) ®

(D) 30w W | TH § Afh
(E) 39t § ¥ 1g T

‘o’ ety Fwe-T 27

(A)

(B)

(C) &

(D) 3w W | TH § Al
(E) 3udth § & #1$ T

Tqeff = 7

(A)

(B) %

(C) =

(D) 30w W | TH § Afh
(E) 3w # & g e

(IFREANCCOR R manamnmm ¢ e. . o.



17.

18.

19.

20.

23/MAV/M-2023-10/S3 (S)/117-A

‘wrfyr’ wree ot oo @

(A) et

(B) @i

(C) emfes

(D) T # & T @ i
(E) 3udth # & 1g T

Tt} IS 2

(A) =

(B) @

(C) T

(D) 39w | ¥ TH ¥ M
(E) 3ude # @ *5E T

aredf T R

(A) =

(B) =

©) =

(D) 39Y® | ¥ TH ¥ M
(E) 3ude d @+ T

= o FeH §
(A) =
(B) =
€ =
(D) 39y | ¥ TH ¥ M

(E) 37 & & 18 e

21.

22.

23.

24.

() ki, (@) foem, (m) @,
() o fosedt & & wF-w1 g0 ‘vt
% TFT w7

(8) (%) 3R (@)

(B) (@) ik ()

(C) () 3R (%)

(D) 39w | ¥ TH ¥ M=
(E) 3udth # & 1S 7

foreim w1sg 61 F=-T1 W w77
(A)  PTIRE—HTHR

(B) pran—far

(C) Teha—Tasha

(D) 39Y® | ¥ TH ¥ M
(E) 3udth § @ 1$ T

frafafaa & 9 #F-u1 T agE 27
(A) =8 FHEA AT T 2 |

(B) =@ I@HI =g |

(C) To™ IT wW 9vd T |

(D) 39w W | TH § Afh

(E) 3w & @ 18 7t

T o 3MYR T -1 faehed a1
g & 87

(A) SuaTE

(B) T a1

(C) ¥ =T

(D) 30w U | TH A Afh

(E) 3udth # @ 1$ T



25. 59 wsal @ =pEar, @gar, @ar @

26.

27.

=31 1 Y E, I A FEd o7
(A) S wTeq

(B) wehreff w1sg

(C) tarreff v1sg

(D) 39w H ¥ UH ¥ M+
(E) 39w & & &g T

‘& gomn 7 T @ amw o
T Ueh Ied AT A Y

(A)  FTrEh

(B) 1™

(C) =g

(D) 39w H ¥ TH ¥ M
(E) 3udh # & *rS 7

9 H WO-dld w Y w9
forwor wrEeTd &

(A) TEEES

(B) U=

(C) wrdATH®

(D) 39Y® | ¥ TH ¥ M
(E) 39w & & &g 7

23/MAV/M-2023-10/S3 (S)/117-A

5

28. AT & YT W ST s {ohT HITS I

29.

30.

27

(A) ®e =

(B) ifirs v1sg

(C) dnTEg Treg

(D) 39w W | TH ¥ Afeh
(E) 3udth # & 1S T

frefafaa 8 @ ®F-a1 ol 3= 27
(A) 3=

(B) ®Rat

(C) sws

(D) 39w | ¥ UH ¥ M+

(E) 39 o & 18 7

“Sfea IR o9 W e a1 w\n|
ot da TS 9a & dred gl

30k 3R H FH-U1 AcAHE 87
(A) ®IF

(B) 3wl

(C) e

(D) 39w | ¥ UH ¥ M+
(E) 39w & & 18 T

(IFREANECOR R manamnmm ¢ e. . o.



PART—II
( GENERAL STUDIES )

31. The cost of 5 bats and 18 balls is
¥6,500 and the cost of 2 bats
and 20 balls is ¥4,200. What
are the costs of one bat and one
ball respectively?

(A) ¥850, 125

(B) €630, T115

(C) ¥780, ¥T150

(D) More than one of the above
(E) None of the above

32. A shopkeeper purchases an item
at 615 and sells it at ¥820.
What is his percentage profit?

(A) 25%
(B) 33-33%
(C) 35:50%

(D) More than one of the above

(E) None of the above

33. A hacker finds that the ATM PIN
of a person has first two digits
ranging from 3 to 8, and the
fourth digit is either O or 9. How
many attempts must the hacker
try in order to decode the PIN?

(A) 48
(B) 24
(C) 720

(D) More than one of the above

(E) None of the above
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34. The lengths of two sides of a
triangle are 8 cm and 9 cm, and
its area is 125 cm?. What is

the length of the third side?

(A) S cm
B) 9 cm
(C) 7 cm

(D) More than one of the above

(E) None of the above

35. There are 50 numbers. Each
number is subtracted from 53,
and the mean of the numbers so
obtained is found to be -3-5.
The mean of the given numbers
is

(A) 565
(B) 535
(C) 495

(D) More than one of the above

(E) None of the above
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36. The ratio of the ages of two
brothers is 4 :3. If the elder
brother is 6 years older than the
younger one, then their ages (in

years) are
(A) 24, 18
(B) 36, 30
(C) 15,9
(D) More than one of the above
(E) None of the above
37. The value of
1_1j o112t ...(1_1

2 3 4 n
is
(A) n-1

n
®) »

n

1
Cc)
© n+l1
(D) More than one of the above
(E) None of the above

38. The quadratic equation with

roots —1 and 4 is

(A) x2-3x-4=0

(B) x2+3x+3=0

(C) x%2-4x+1=0

(D) More than one of the above
(E) None of the above
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39. The Sun observation point of
Aditya-L1 satellite is
(A) L1
(B) L2
(C) L3
(D) More than one of the above
(E) None of the above

40. Ginger is an underground stem
and not a root because
(A) it stores food material
(B) it has nodes and inter-

nodes

(C) it lacks chlorophyll
(D) More than one of the above
(E) None of the above

41. The focal length of a convex lens

is f =10 cm. On immersing in
water, it will act as a

(A) convex lens of f; =10 cm

(B) concave lens of f; =10 cm
(C) convex lens of f; >10 cm

(D) More than one of the above

(E) None of the above
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42. Though water is transparent to

43.

visible light, it is not possible to
see distant objects in fog which
consists of fine drops of water.
This is so because

(A) fine drops of water are
opaque to visible light

(B) most of the light is scattered
to create apparent opacity

(C) light rays suffer total
internal reflection and so
unable to reach observer’s
eyes

(D) More than one of the above
(E) None of the above
Monochromatic light enters from
one medium to the other. Which

one of the following properties
does not change?

(A) Frequency

(B) Amplitude

(C) Velocity

(D) More than one of the above

(E) None of the above
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45.

46.

The speed of an electron in the
orbit of the hydrogen atom in
the ground state is

(A) ¢
B) c/2
(C) ¢/137

(D) More than one of the above

(E) None of the above

A blackbody radiates energy at
the rate of E watt per metre? at
a high temperature T K. When
the temperature is reduced to
T/3K, the radiant energy
(in watt per metrez) will be

A) E/16
(B) E/27
(C) E/81

(D) More than one of the above

(E) None of the above

The acid which can destroy the
colour of acidic KMnO, is

(A) CH3COOH

(B) CeHgO7

(C) CH3CH,COOH

(D) More than one of the above

(E) None of the above
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47. Who was the writer of ‘Banglar
Mati, Banglar Jal’, which was
originally a protest song against
the Partition of Bengal in 1905
by Lord Curzon, and for which
the West Bengal Assembly
passed a resolution as the new
State Anthem recently?

(A) Kazi Nazrul Islam

(B) Rabindranath Tagore

(C) Sukanta Bhattacharya

(D) More than one of the above

(E) None of the above

48. Who is the architect of the new
Parliament of India building
inaugurated recently?

(A) Bimal Patel

(B) Rahul Mehrotra

(C) Yogesh Kapoor

(D) More than one of the above

(E) None of the above

49. Which one of the following
Indian films was screened at
the 76th Cannes Film Festival
in May 20237

(A) Anurag Kashyap’s Kennedy
(B) Kanu Behl’s Agra

(C) Neeraj Pandey’s Khakee
(D) More than one of the above

(E) None of the above
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50. Azali Assoumani, who attended
the G20 Summit in New Delhi as
the current Chairperson of the
African Union which has
become the newest member of
G20, is the President of which
country in the African Union?

(A) Republic of the Congo

(B) Gabon

(C) Comoros

(D) More than one of the above

(E) None of the above

51. When is the ‘Human Rights Day’
celebrated annually?

(A) 10th November

(B) 10th December

(C) 24th October

(D) More than one of the above

(E) None of the above
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53.

54.

Who was the founder of Indian
National Army (INA)?

(A) Subhash Chandra Bose
(B) Mohan Singh

(C) Lala Lajpat Rai

(D) More than one of the above

(E) None of the above

‘Tana Bhagat Movement’ was
related to

(A) Dalit Movement

(B) Tribal Movement

(C) Peasant Movement

(D) More than one of the above

(E) None of the above

In which State is ‘Raksha
Bandhan’ celebrated as ‘Tree
Safety Day’?

(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Bihar

(D) More than one of the above

(E) None of the above
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55.

56.

In which of the following states
is black soil found?

(A) Karnataka

(B) Gujarat

(C) Uttarakhand

(D) More than one of the above

(E) None of the above

How many types of species of

flora and fauna are there in
India?

(A) 81000 species of fauna and
47000 species of flora

(B) 70000 species of fauna and
50000 species of flora

(C) 50000 species of fauna and
40000 species of flora

(D) More than one of the above

(E) None of the above
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57. Minerals

58.

59.

23/MAV/M-2023-10/S3 (S)/117-A

are deposited and 60.
accumulated in the strata of
which of the following rocks?
(A) Sedimentary rocks
(B) Metamorphic rocks
(C) Igneous rocks
(D) More than one of the above
(E) None of the above
Which one of the following is a ol
leguminous crop?
(A) Pulse
(B) Jowar
(C) Millet
(D) More than one of the above
(E) None of the above

62.

Which two of the following
extreme locations are connected
by the East-West Corridor?

(A) Mumbai and Nagpur
(B) Mumbai and Kolkata
(C) Silchar and Porbandar
(D)

More than one of the above

(E) None of the above
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Stalactite and stalagmite
structures are formed by

(A) wind action

(B) underground water
(C) snow action
(D)

More than one of the above

(E) None of the above

April 22 is celebrated as the
(A) World Earth Day
(B) World Health Day
(C) World Ozone Day
(D)

More than one of the above

(E) None of the above

Topographical map of India is
prepared by which organization?

(A) The Geological Survey of
India

(B) The Survey of India

(C) The Zoological
India

Survey of

(D) More than one of the above

(E) None of the above



57. @fis fefafiga § @ form =g@ & @

58.

59.

H ST BT 87

(A) ST @gH

(B) ®Urafd =EH

(C) I =gH

(D) 39w | ¥ TH ¥ M=
(E) 39 o & 18 7

frafafea & 4 -0 & welleR
HHA 27

(A) =T

(B) w9

(C) =/

(D) 39w | ¥ TH ¥ M
(E) 39w & & &g 7
frefafad & @ a9-9 a1 TW A
7 -ufeerdt feem @ g2 #7
(A) =g ST AT

(B) =8 ST Hrcispr
(C) foe=r 3R IReeT

(D) 39Y® | ¥ TH ¥ M
(E) 39w & & &g 7
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60. TWoRRES TI ToWHES TR

61.

62.

17 (RN v

EECIR

(A) WS FW

(B) a1 gRT

(C) =% gr

(D) 39w H ¥ UH ¥ M+
(E) 39 & & &8 7

22 39 I o &9 & W 87
(A) Tova geft feam

(B) fova w@men faaq

(C) Torva 7wt faaw

(D) 3w W | TH § Al
(E) 3udth # & 1S 7

A 1 TIATRIqR AHA hd diTeq
FRT SR ST 27

(A) AT AT e
(B) W wdagor

(C) Wt Jfor Tejeqor
(D) 39w H ¥ UH ¥ M
(E) 39w # & &8 7
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63.

64.

65.

66.

Who first described the Revolt of
1857 as the ‘First Indian War of
Independence’?

(A) V. D. Savarkar

(B) Bal Gangadhar Tilak

(C) R. C. Majumdar

(D) More than one of the above

(E) None of the above

Which of the following events
happened first?

(A) Santhal Rebellion

(B) Rebellion of Birsa Munda
(C) Tana Bhagat Movement
(D) More than one of the above
(E) None of the above

Which revolt is mentioned in
Bankim Chandra Chatterjee’s
novel, Anandamath?

(A) Sannyasi

(B) Pagalpanthi

(C) Indigo

(D) More than one of the above
(E) None of the above

When were ‘Swadeshi’ and
‘Boycott’ first adopted as forms
of struggle in India?

(A) Partition of Bengal

(B) Home Rule Movement

(C) Non-Cooperation Movement
(D) More than one of the above
(E) None of the above
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67.

68.

69.

70.

Who was the President of the
Indian National Congress at the
Gaya Session of 19227

(A) Chittaranjan Das

(B) Hakim Ajmal Khan

(C) Mahatma Gandhi

(D) More than one of the above
(E) None of the above

Who led the peasants of Bihar
during the Non-Cooperation
Movement?

(A) Raj Kumar Shukla

(B) Swami Vidyanand

(C) Rajendra Prasad

(D) More than one of the above
(E) None of the above

Who founded Hindu College at
Calcutta in 18177?

(A) Henry Vivian Derozio

(B) David Hare

(C) Jonathan Duncan

(D) More than one of the above
(E) None of the above

Who among the following said
that “Congress is to tottering to
its fall and one of my great
ambitions while in India is to
assist it to a peaceful demise”?

(A) Dufferin

(B) Minto

(C) Curzon

(D) More than one of the above
(E) None of the above
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EIRLGREDIRICIRIN (A) FresH g

(A) o Fto AT (B) ehm e @i

(B) et WER feeteh (C) TTeT Tieft

(C) 3TRo Hio ASHR (D) 3wt & & Tk @ sl

(D) TIE § & wF ¥ e (E) 3ugh @ 4 g T

(E) S & P 7 68. s v ¥ dom el R
64, FrFrs Eoa drer o e et 6t ST <67

TEel E57 (A)  TISTHHR FA

(A) T fosre (B) =i frem=

(B) formn o1 = e (©) T wEm

(©) T e e (D) 39 W | TH ¥ Afeh

(D) 3UYh H § TF ¥ Al () 37 5 & 18 T

(E) 39w H | HIE T8 69. 1817 #, ol H feg wicw I
65. dfhn 9% =Sl 1 UMW, IH<HS ° v e

P e 1 5 47 Eg)) g@iﬁw

(A) W (C) SHIH €A

(B) et (D) =i i & T

(C) (E) 39w H § 5 T8

(D) 39w W | TH § Afeh

(E) 3 # & g e 70. T @ FrEt war o1 B w e
66. o A G % e & v d e e

wd ‘afeepr’ wia # e STOER T sﬁﬂﬁﬁmﬂéﬂi”?

(A) sme T (A) THE

(B) TW & 3MT<_rleH (B) fo=r

(C) sTHEaT e (C) s

(D) 39w | ¥ TH ¥ M (D) 39w | ¥ TH ¥ M=

(E) 3w & & 18 7t (E) 3udth # & #1$ T
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H-1.

H-2.

H-3.

PART—III
( HISTORY )

Who described for the first time
about the Harappa in 18267

(A) Charles Masson

(B) Alexander Cunningham
(C) John Marshall

(D) More than one of the above

(E) None of the above

Which Harappan site gives the
evidence of wooden carved
drain?

(A) Lothal

(B) Kalibangan

(C) Ropar

(D) More than one of the above

(E) None of the above

Which Mauryan ruler has been
addressed as ‘Sandrocottus’?

(A) Chandragupta Maurya

(B) Bindusara

(C) Ashoka

(D) More than one of the above

(E) None of the above
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H-4.

H-5.

H-6.

In which year of his reign did
Ashoka visit Bodh Gaya?

(A) 9th

(B) 10th

(C) 11th

(D) More than one of the above

(E) None of the above

In which inscription did Ashoka
show his faith in Tri-Ratna?

(A) Bhabru

(B) Jaugada

(C) Maski

(D) More than one of the above

(E) None of the above

What was <Varta’ during the
Mauryan period?

(A) Officers’ visit

(B) Domestication of animal
(C) Agricultural work

(D) More than one of the above

(E) None of the above

20 [N TRUCT AR



H-1.

H-2.

H-3.

PART—III

( HISTORY )
1826 H TEYUH TSI o Hrrd H H-4. 04 IOA & fopd ad § ofemes 4
forem 3g@ T an? e < A Y
(A) =" B (A) 9d
(B) STetaiet FHiem (B) 103
(C) I ATl (©) 119
(D) ST # & T @ i (D) 37w & & & sife
() 39 # & 1S 7 (E) S & & #i¢ 7
rEm R T ET as e sfs 3 i s e
(a) <o (A) =g
() Frfem B) e
(C) Tus © weh
(D) TR 5 8 0 Q<A (D) e § & T @ st
(E) 37w & | =g 7 E) T 82 B
fohe W v B Eegenic’ % w9
s R 7 H-6. el # ‘aral’ @ o7
(A) = T (A) SAlRFE wHor
(B) fogem (B) =gttt
(C) i (C) Pl bt
(D) 3Ww H ¥ TF ¥ ik (D) 37w § § TF ¥ M
(E) 3wtk # & *1$ 7 (E) 30w | § *I5 T
23/MAV/M-2023-10/S3 (S)/117-A 21 [T | e.r.o.



H-7. What was ‘Rupajiva’ during H-10. Which phase is considered as
the Mauryan period? the ‘Renaissance period’ ?
(A) Trade and commerce (A) 12th-14th centuries
(B) Domestication of animal (B) 13th-15th centuries
and agriculture
(C) 14th-16th centuries
(C) Slavery
(D) More than one of the above
(D) More than one of the above
(E) None of the above (E) None of the above
H-8. Kautilya mentions how many H-11. Who was Michelangelo in the
types of slaves? ‘Renaissance period’™?
A) 7 (A) Religious reformer
B) 8 (B) Dictator
€ 9 (C) Painter
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
H-9. With which ‘ﬁeld i was H-12. Who was Harsha’s Chief
‘Sangrahan’ associated in the
. . Secretary?
Mauryan administration?
(A) Land revenue (4) Avanti
(B) Religion (B) Bhandi
(C) Judiciary (C) Singhnad
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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H-7. UE&E § SqTSan @ or? H-10. fFg =R07 &1 QISR F1ed’ el Sar

87
(A) SR AR iU

(A) 121431 st
(B) TRIICH 3R PfH

© (B) 13%fi-15dt wramsat
C) Tyt

(D) 3w & & T @ anfern (C) 14di-16dT wrarst

(D) 3w H & TF | ik

(E) 3w | & &g 7
(E) 3w | § *I5 T
H-8. #HIfecy fhad R & 3™l =1 3g@
Rl &7 H-11. YASITROT STl 31 HTSHCTUSIA shid o7
@A) 7 (A) H-gawe
(B) 8
(B) drmTR
(O (C) TR

s
(D) ¥ H & & A (D) s § & T @ sl

(E) v & 8w (E) 30w § § *I5 7
H-9. od wmed # ‘wuew’ fFa &9 @

e I, H-12. 79 & Y9W af=a & o1
(A) Y-Tor () et

(B) w (B) #f®

(C) == (C) fogme

(D) 3w § | T ¥ ik (D) 3w § | TH ¥ Al
(E) 37 # & =18 7 (B) 3o # & g T
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H-13. Whom did Bhaskaravarman

H-14.

H-15.

send to Harshavardhana as
an ambassador?

(A) Madhav Gupta

(B) Sharabh Ketu

(C) Hansbeg

(D) More than one of the above

(E) None of the above

Which officer was called ‘Chat
and Bhat’ during Harsha’s
period?

(A) Revenue

(B) Military

(C) Police

(D) More than one of the above

(E) None of the above

Which Chola ruler got victory
over the whole ‘Dravidian State’
for the first time?

(A) Rajaraja I

(B) Vijayalaya

(C) Parantaka I

(D) More than one of the above

(E) None of the above
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H-16.

H-17.

H-18.

Which Chola ruler defeated the
Sinhal ruler Mahendra V?

(A) Aditya I

(B) Rajendra I

(C) Rajaraja I

(D) More than one of the above

(E) None of the above

Who invented ‘Flying Shuttle’ ?
(A) Arkwright

(B) John Kay

(C) Abraham Darby

(D) More than one of the above

(E) None of the above

In which year
Stephenson
between
Manchester?

did George
start railway

Liverpool to

(A) 1826

(B) 1829

(C) 1833

(D) More than one of the above

(E) None of the above
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H-13. Wi 4 58 Tofgd sAem edae H-16. T8 =it ymae 3 fiea Rar 78w d=m

% T8 HST? ! qusd feram em?

(A) HIESTH (A) eTTfeeT gom

(B) TRWeH (B) T3 o

(C) e (C) T T

(D) 30w & ¥ TF 4§ AferF (D) 3T § & U & e
(E) 37 H & i 7 (E) = & & #é 7

H-14. & & @ § ®H-01 aAfswd =me o H-17. “5elidi cized’ 1 Aifausis b

e’ hEATdT A7

(A) TS (A) ATHTEE

(B) &= (B) 1%

(C) gferw (C) erITed erelt

(D) 34 § & u ¥ afie (D) 37 # & w @ 3fee
(E) 3udwh & & &5 7 (E) 3udeh & @ & 7

H-15. g =i wmoe 3 wdvem aept ‘sfire H-18. fopg av ofiengel 3 AFaet & #e

N Y N St e 3 Yo et
(A) TSRS YoH (A) 1826

(B) fostae= (B) 1829

(C) = T (C) 1833

(D) I # ¥ uF & A (D) IWF & & 1% & A
(E) 3T & & =% 7 (E) 37w & & =18 =
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H-19. Who wrote the book, The H-22.

Wealth of Nations?

(A) David Ricardo

(B) Machiavelli

(C) Adam Smith

(D) More than one of the above

(E) None of the above

H-23.
H-20. What was ‘tithe™
(A) Salt tax
(B) Agriculture tax
(C) Religious tax
(D) More than one of the above
(E) None of the above
H-24.

H-21. Who wrote Discourse on
Inequality (Second Discourse)?

(A) Montesquieu

(B) Voltaire

(C) Rousseau

(D) More than one of the above

(E) None of the above

On which island was Napoleon
Bonaparte born?

(A) Corsica

(B) Elba

(C) St. Helena

(D) More than one of the above

(E) None of the above

Who wrote the famous book
named The Spirit of the Laws ?

(A) Diderot

(B) Rousseau

(C) Montesquieu

(D) More than one of the above

(E) None of the above

On which price did
Qutb-ud-din Aibak purchase
[tutmish?

(A) Fifty lakh Jitals

(B) One lakh Jitals

(C) Two lakh Jitals

(D) More than one of the above

(E) None of the above
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H-19. T oy 3% A34 fhaeh w1 27 H-22. o g9 W Qi SHme &1 s

gea e
A) sfas frwret
(A) Hifde
(B) HeRmactt
(B) Tes
(C) Uew fary .
) (C) T T
(D) 3 % & 0 @ i (D) v & & o & aife
(E) 3wt & & ¢ (E) 30w § & 318
H-20. ‘Zise @ ot H-23. ‘T fafe e g of Tms ufig ge
fopem foret?
(A) THF F
(a) <
(B) Ffu =
(B) =4
(C) ik =
(C) ey
(D) 3w H & T ¥ ik
(D) 3w H ¥ TH ¥ M
(E) 3w H & g T .
(E) 39 § ¥ &g T
H-21. fewpd o sh@ferdl  (Uee
Fecel) e fora? ( H-24. FgdeH Uk A fh8 qod W Sogarmmt
' EIRCH IR
(A) (A) U= A Sida
(B) afezr (B) U @M@ Sfad
(C) ®@ (C) & M Sfiaat
(D) 3 | § TH ¥ Al (D) 3 | O wH ¥ A
(E) 37 & § 5 T (E) 3% & & =g T
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H-25.

H-26.

H-27.

H-28.

In which year did Itutmish
get recognition by the Caliph
of Baghdad?

(A) 1227
(B) 1228
(C) 1229

(D) More than one of the above

(E) None of the above

During the reign of which
Sultan was a new post ‘Naib-e-
mumlikat’ created?

(A) Bahram Shah

(B) Alauddin Masud Shah

(C) Nasiruddin Mahmud

(D) More than one of the above
(E) None of the above

On which duty was Balban
appointed for the first time?

(A) Amir-i-Shikar

(B) Amir-i-Hajib

(C) Khassa-Dar

(D) More than one of the above
(E) None of the above

Which Sultan of  Delhi
constructed his tomb during
his lifetime?

(A) Itutmish

(B) Balban

(C) Alauddin Khilji

(D) More than one of the above

(E) None of the above
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H-29. What was the last victory of
Akbar?
(A) Gondwana
(B) Gujarat
(C) Asirgarh
(D) More than one of the above
(E) None of the above

H-30. At which place did Akbar
construct Ibadat Khana?
(A) Agra
(B) Delhi
(C) Fatehpur Sikri
(D) More than one of the above
(E) None of the above

H-31. Who was the Mughal ruler at
the time of the Battle of
Plassey?
(A) Shah Alam II
(B) Akbar II
(C) Alamgir II
(D) More than one of the above
(E) None of the above

H-32. At the time of the Battle of
Buxar, who was the Governor
of Bengal?
(A) Holwell
(B) Vansittart
(C) Clive
(D) More than one of the above
(E) None of the above
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H-25.

H-26.

H-27.

H-28.

foFg ad Sogafie  TERE % WelTH
EUUR IR G

A) 1227

(B) 1228

(C) 1229

(D) 3IWw H ¥ TF ¥ ik
(E) 30w & & g 7

foFe goa™ o WEHRE H TH A91 98
‘qrga-u-gAfeteRa giwia foram man?
(A) = e

(B) T3 7HS e

(C) e Heqs

(D) 37w U & T U Afw

(E) 39 | 9 =g 7

A <l gagem e afea & e
2q Tiges fopen mmam et

(A) HR-T-f3R

(B) IHR-u-zIRE

(C) @WE-TR

(D) 37w W 4 T ° Aleh

(E) 3udeh & & *18 7

fagt & form goam 3 19 Sfemera #
B STIAT Tehe San o on?

(A) zegata

(B) setsH

(C) wrersdi figersit

(D) 3w H ¥ TF | ik

(E) 30w & & g 7
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H-29.

H-30.

H-31.

H-32.

TReR Y Afen T -t off?
INBRUEEIE!

(B) TSI

(C) srTe

(D) 3T U 4w U Afus
(E) 3wtk # & *1g 7

ECICRRCIE 0 B T i G el T
HLET AT?

(A) ST

(B) fe&h

(C) paeqy Hwdt
(D) 39w H § T& ¥ M
(E) 39w 8§ & *18 e

AT IE o HI S T i oAT7
(A) e 3T fad

(B) 31 gt

(C) e fgda

(D) 3w § | TH ¥ Afh

(E) 3udeh & & *18 7

JFR o J§ o EI SA B TR
FI o1?

(A) Eedd

(B) dferer

(QRESIES]

(D) 37w § § & ¥ Afw

(E) 3wtk # & 18 7
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H-33.

H-34.

H-35.

H-36.

Who was incharge of the
English Company at Patna at
the time of the Buxar War?

(A) Ellis

(B) Holwell

(C) Verelst

(D) More than one of the above

(E) None of the above

Who led the Revolt of 1857 at
Faizabad (Ayodhya)?

(A) Khan Bahadur

(B) Liaquat Ali

(C) Maulvi Ahmadullah

(D) More than one of the above
(E) None of the above

Who was the Viceroy of India
at the time of foundation of the
Indian National Congress?

(A) Dufferin

(B) Ripon

(C) Curzon

(D) More than one of the above
(E) None of the above

In which year was the Indian
National Congress divided /split
for the first time?

(A) 1905
(B) 1907
(C) 1909

(D) More than one of the above

(E) None of the above
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H-37.

H-38.

H-39.

H-40.

In which
Muzaffarpur
happen?

(A) 1907
(B) 1908
(C) 1909
(D) More than one of the above

(E) None of the above

year did the
Bomb Case

How many volunteers were
accompanied Gandhiji in the
Dandi March?

(A) 98
B) 78
(C) 87
(D) More than one of the above

(E) None of the above

At which place was Ghadar
Party founded?

(A) Berlin

(B) San Francisco

(C) Atlanta

(D) More than one of the above

(E) None of the above

On which date was the
Constituent Assembly held its
First Session?

(A) Sth December, 1946
(B) 9th December, 1946
(C) 14th December, 1946
(D) More than one of the above

(E) None of the above
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H-33.

H-34.

H-35.

H-36.

TFR g h GHF T B USH HET
T IR I o7

(A) e

(B) et

(C) &

(D) 3Ww H ¥ TF ¥ ik

(E) 3T & & =% 7

HeTeTe (3TEeAT) § 1857 & fasig @i
Jgca forem feram?

(A) @ sTETgL

(B) foramera st

(C) et sTeHgET

(D) 37w U & & U Afw

(E) 30w | ° %5

TR THT g 6 T & aud
qRA T TTEET T 977

(A) =

(B) fo

(C) si

(D) 37w W § & ° Alh
(E) 3w & & *18 7

AT ARAE T R 1 e
forg A gt en?

(A) 1905

(B) 1907

(C) 1909

(D) 3IWw H ¥ TF | ik
(E) 30w & & g
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H-37. 0 a9 GS¥6IL o0 &1 € a7 o1?

H-38.

H-39.

H-40.

A) 1907

B) 1908

C) 1909

D) 3w § @ T @ A
(E) 3wtk # & *1g 7

(
(
(
(

e I HOowefst % o'Wy fRad
wagfet 3 gfawm fomam on?

form fafar = afgam aw Hi gl
o g3 oft?

(A) 5 femmr, 1946
(B) 9 femwr, 1946
(C) 14 feur=r, 1946
(D) 37w § 4 & ¥ Afuw
(E) 3wtk # & *1$ 7

31 MR amem  e.r.o.



G-1.

G-2.

G-3.

PART—III
( GEOGRAPHY )

In which year was the Inter-
national Earth Summit held?

(A) 1991
(B) 1992
(C) 1994

(D) More than one of the above

(E) None of the above

Who authored the book, Small
Is Beautiful?

(A) Michael

(B) Schumacher

(C) David

(D) More than one of the above

(E) None of the above

In which year was the Border
Roads  Organisation (BRO)
established?

(A) 1960
(B) 1965
(C) 1967
(D) More than one of the above

(E) None of the above
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G-4.

G-S.

G-6.

G-7.

In which year was the National
Wildlife Protection Act imple-
mented?

(A) 1971

(B) 1972

(C) 1973

(D) More than one of the above
(E) None of the above

Which tree is worshipped by
the Mundas and the Santhals
of Chota Nagpur region?

(A) Mango

(B) Tamarind

(C) Mahua

(D) More than one of the above
(E) None of the above

What percentage of area of
India is covered with plateau?

(A) 27

B) 37

(C) 43

(D) More than one of the above
(E) None of the above

What is the total geographical
area of India?

(A) 3-18 million sq. km

(B) 3:28 million sq. km

(C) 3-38 million sq. km

(D) More than one of the above
(E) None of the above
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PART—III
( GEOGRAPHY )
G-1. IUYE et g form o st G-4. T g=sia wxew ortufem g ad

g7 GIRERIRICIN
@) 1991 (A) 1971
(B) 1972
(C) 1994 (D) 39w § & T A Al
E ERCIEAEE K
(D) v & & wh & ot (E) m & & =1
. : G-5. Bl AN &F % F T IR FAA fohE
(E) 3w § ¥ *IE T s 1 7 7 B
(A) ™
G-2. ‘WA T Sfepel geeh fore forelt? (B) sk
(A) T (C) wgst
(D) 37w § 4 T ¥ Afw
(B) =reRt (E) =wd § & 3¢ 7
(©) = G-6. YR 1 feham Ufaerd &o%al YeR @
(D) 3w & & T @ anfern FrsIed 87
(®) i & e
(B) 37
. (C) 43
G-3. gf?w (BRO) EIREILE]] (D) Wﬁﬁ@ﬁ R
! (E) 39w 8§ & *18 e
(A) 1960
G-7. WA & FA HMifere et fohaan 27
(B) 1965 (A) 3-18 fuferm af foho o
(C) 1967 (B) 3-28 faferm anf foho o
. (C) 3-38 fiferm 9 foro o
(D) 3w & 0 & i D) v A 8w @ o
(E) 37w & & F1 Tf (E) I & & *1g
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G-8.

G-9.

G-10.

What is the desired percentage
of forest cover in India
according to the National
Forest Policy of 19527

(A) 67%
(B) 33%
(C) 55%
(D) More than one of the above

(E) None of the above

Which type of soil has higher
concentration of Kanker
nodules?

(A) Khadar

(B) Bangar

(C) Laterite

(D) More than one of the above

(E) None of the above

If the top soil is washed away,
what is it called?

(A) Gully erosion
(B) Sheet erosion
(C) Badland erosion

(D) More than one of the above

(E) None of the above
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G-11.

G-12.

G-13.

Lepcha folk song belongs to
which part of the country?

(A) Northern Ladakh

(B) Northern Himachal
(C) Northern Darjeeling

(D) More than one of the above

(E) None of the above

In which State is Bandhavgarh
National Park situated?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Rajasthan

(D) More than one of the above

(E) None of the above

Which State of India has the
largest forest cover by area?

(A) Arunachal Pradesh
(B) Sikkim
(C) Madhya Pradesh
(D) More than one of the above

(E) None of the above
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G-8. 1952 @i ¥ aq Hfifda & 17w,

G-9.

G-10.

T | a9 ST Bl difed Tfaerd &
77

A) 67%

(B) 33%

(C) 55%

(D) 3w 4 & & U Afusw
(E) 3w ¥ & &8 T
fpe TR A U § e U @
Tehegn 3Tfereh B 27

(A) @R

(B) W

(C) wese

(D) 37w ¥ 4 T ¥ Al
(E) 3T & & IE T

Ife ot gt o7 ot 2, @ 3@ F:m
Fed &7

(A) Tl *eE

(B) 3fie heE

(C) 9=t € FeE

(D) 3IWw H & T ¥ ik
(E) v & 4 =g 7
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G-11.

G-12.

G-13.

AT AR 29 6 fohE 9T ¥ gt
77

(A) I R

(B) 3Iudt femmat

(C) =t ariifer

(D) 3T ¥ 4 T U Afusw
(E) 3udeh & & *18 7

Slaere T 3T 59 59 ° or
27

(A) I I

(B) HET UoH

(C) TR

(D) 37w U 4 T U Afw
(E) 30 o & 18 T

qRd o e 59 § ga8 31fees o &
77

(A) SO YS9

(B) fafem

(C) HeA Haw

(D) 37w ¥ 4 & ° Afuw
(E) 3wtk # & *1g 7
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G-14.

G-15.

G-16.

Which of the following conser-

vation strategies does not
directly involve community
participation?

(A) Joint forest management
(B) Beej Bachao Andolan

(C) Demarcation of wildlife

sanctuaries
(D) More than one of the above

(E) None of the above

What percentage of electricity
is contributed by hydroelectric
power projects in India?

(A) 32
(B) 36
() 22
(D) More than one of the above

(E) None of the above

What per capita per day
potable drinking water supply
is needed according to the Jal
Jeevan Mission of India?

(A) 8L
(B) 65L
(C) 55L
(D) More than one of the above

(E) None of the above
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G-17. Which among the following
rivers creates estuary?
1. Mahi
2. Tapti
3. Pennar
4. Narmada
Select the correct answer.
(A) 1 and 2
B) 2 and 3
(C) 3 and 4
(D) More than one of the above
(E) None of the above

G-18. Over which river is Sardar
Sarovar Dam built?
(A) Krishna
(B) Narmada
(C) Cauveri
(D) More than one of the above
(E) None of the above

G-19. In which State of India, rain-
water is known as Palar Pani?
(A) Haryana
(B) Punjab
(C) Rajasthan
(D) More than one of the above
(E) None of the above

G-20. Which State in India has made
rooftop rainwater harvesting
structure compulsory to all the
houses?
(A) Tamil Nadu
(B) Kerala
(C) Goa
(D) More than one of the above
(E) None of the above
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G-14.

G-15.

G-16.

frfafaa & @ form wew wrifa &
g 9 W gEe vriedt e
& 87

(A) §IF 9 &G

(B) st st TEe

(C) T=sfa AR AT 1 Hiieh
(D) 3IWw H & TF ¥ ik

(E) 3w & & *18 7

aRd § Sfaeq Sel qreEsEre g/
fersteft 1 fere gfqera =hee 2rr 27
(A) 32

(B) 36

(C) 22

(D) 37w 4 & & U Afw

(E) 3w # & i Tl

A o S Siad fieH % TR,
featd fdfe Jasia fd it fopat
AT &7

(A) 85 fi

(B) 65 ofiX

(C) 55 fi

(D) 37w U 4 T U Afusw
(E) 3T # & i Tl
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G-17.

G-18.

G-19.

G-20.

ffafga @t & @ S9-dt T
&1 /ST STt 27

1. #&

2. drdt

3. R

4, THa

TE W T =T T |

(A) 1R 2

(B) 23R 3

(C) 33m4

(D) 37w 4 & & U Afus
(E) 3udeh & & *18 7

TER TR g g e W o= T
87

(A) Fwm

(B) Har

(C) =Ed

(D) 39w § § TF ¥ M

(E) 3udeh & @ &5 7

TRd & Thd TT § -5l bl AR/
IR Ut el ST &7

(A) =i

(B) s

(C) TSrEH

(D) 37w 4 & T U Afw

(E) 3udeh & & *18 7

IR & {58 TF 9 aft ) 0 3d W
Y-S T G A w9 RY
(A) afaerTg

(B) =«

(C) Than

(D) 3w § | TH ¥ Afh

(E) 3wtk # & *1$ 7
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G-21. In which country is ‘slash and G-24.

burn’ agriculture known as

Milpa?
(A) Congo
(B) Mexico

(C) Venezuela
(D) More than one of the above

(E) None of the above

G-25.
G-22. Who initiated the movement of
Bloodless Revolution?
(A) Shakuntala Bai
(B) Vinoba Bhave
(C) Jason Reddy
(D) More than one of the above
(E) None of the above
G-26.

G-23. In sugarcane production in the
world, the rank of India is

(A) 4th
(B) 3rd
(C) 2nd
(D) More than one of the above

(E) None of the above

Which State of India produced
the largest amount of groundnut
in 2019-207

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Gujarat

(D) More than one of the above

(E) None of the above

What percentage of concen-
tration of iron is there in
magnetite ore?

(A) 67
B) 70
(C) 74
(D) More than one of the above

(E) None of the above

In which State is Ratnagiri
District Iron Ore Deposit
located?

(A) Goa

(B) Andhra Pradesh

(C) Maharashtra

(D) More than one of the above

(E) None of the above
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G-21. frg 3w & 3@ @Wd’ (slash and G-24. I 2019-20 ¥ ¥Rd & fFa T 4

burn) FN & Ted & 99 F S0 HIThel! T GaH 317k Icqred foRan?
ST 87
(A) I Y=
(A) =
(B) wed Wam
(B) wfaeent
(C) Tsa
“ I § & TF § fe
(D) Th H AG
(D) 37w U 4 & U Afusw
. (E) 3o & & i< 7
(E) I 4 ¥ #13 T

G-25. TUTEe IWEE o & Az fohaq
G-22. THEM FI< o &I e e

e 7 wfirera Bt 27

(A) e A A 67

(B) e W (B) 70

(©) ST (C) 74

(D) =i & @ wh @ T (D) 3 # & uh & sAfers

(B) 3w & & =g 7 () 3o # & +rd T
G-23. T S § Wi fowd § frw ww G-26. W f@m o e e e

w R T § fedrq 27

(A) = (A) e

(B) (B) iy mw

(C) T (C) wewTy

(D) 3w H & T | ik (D) 37w 4 & ° Afw

(E) 30w & & g e (E) 3wdw # & #g 7
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G-27. In which State is Ankleshwar G-30.

Oil Field located?
(A) Gujarat

(B) Maharashtra
(C) Rajasthan

(D) More than one of the above

G-31.
(E) None of the above
G-28. Where is the Geothermal Plant
of Parvati Valley located?
(A) Jammu & Kashmir
(B) Ladakh
G-32.
(C) Himachal Pradesh
(D) More than one of the above
(E) None of the above
G-29. Which is non-metallic mineral?
G-33.

(A) Iron

(B) Manganese

(C) Mica

(D) More than one of the above

(E) None of the above

Under which type of sector
does BHEL (Bharat Heavy
Electricals Limited) come?

(A) Public

(B) Private

(C) Joint

(D) More than one of the above

(E) None of the above

In which year was the
first successful textile mill
established in Mumbai?

(A) 1854
(B) 1864
(C) 1874

(D) More than one of the above
(E) None of the above

Where is Bhadravathi Iron and
Steel Plant located?

(A) Andhra Pradesh

(B) Karnataka

(C) Tamil Nadu

(D) More than one of the above

(E) None of the above

Which plateau of India has
the highest concentration of
iron and steel industries?

(A) Chota Nagpur Plateau

(B) Meghalaya Plateau

(C) Marwar Plateau

(D) More than one of the above

(E) None of the above
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G-27. 3Hhdiver do a7 fore T 7 fourg 27

G-28.

G-29.

(A) Tera

(B) wewmg

(C) T=EH

(D) 3w H ¥ TH ¥ Al
(E) 3udeh & & *18 7

urd e T AT T el e
g7

(A) S 3R R

(B) <@

(C) femma wewm

(D) 37w U & & U Afw
(E) 3udeh & & *18 7

srgTfeash @S -1 27
(A) @

(B) #TS

(C) Ay

(D) 3IWw H & TF ¥ ik
(E) 3% # & hIE T
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G-30.

G-31.

G-32.

G-33.

BHEL (¥Ra &t Taifagecy fafies)
fore YR o & o 3Tard 3Tmar 27

(A) wTES

(B) fsf

(C) &I

(D) 3Ww H ¥ TF | ik
(E) 3udeh & & & 7

qas § vec! 9hd Huel e fore ad
ToqTfya i TS oft?

(A) 1854

(B) 1864

(C) 1874

(D) 37w § 4 & U Afw
(E) 39w 8§ & *18 e
EEdl e U9 36 69wl e
27

(A) Mg Y=

(B) e

(C) dferrg

(D) 37w W ¥ & ° Al
(E) 3udes & & *18 7

qRd & {8 U8R # g T e
IENT 1 HATTeeh HohgUl &7

(A) BT AR TR

(B) THETe USR

(C) HRaTS 48R

(D) 3w H & TF | ik
(E) 3% & & hrg 72
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G-34. The height of stratosphere is
(A) 25 km
(B) 50 km
(C) 75 km
(D) More than one of the above

(E) None of the above

G-35. The length of Atal Tunnel is
(A) 9-02 km

(B) 9:8 km

(C) 10-08 km

(D) More than one of the above

(E) None of the above

G-36. Which is the biggest port of

India?

(A) Hubli

(B) Mumbai

(C) Coimbatore

(D) More than one of the above

(E) None of the above
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G-37.

G-38.

G-39.

G-40.

Out of the following, which
one is named as the National
Waterway 17?

(A) Sadiya—Dhubri

(B) Allahabad-Haldia

(C) Kottapuram-Kollam

(D) More than one of the above

(E) None of the above

In how many zones is Indian
Railways reorganized?

(A) 8

B) 12

(C) 16

(D) More than one of the above

(E) None of the above

Name the first crude oil

pipeline transport network of
India.

(A) Hazira—Vijaipur

(B) Assam-Kanpur

(C) Guwahati-Siliguri

(D) More than one of the above

(E) None of the above

In which place was the first
jute mill set up in India in
1855?

(A) Hubli

(B) Sasaram

(C) Rishra

(D) More than one of the above

(E) None of the above
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G-34. UHAHSH 6l HaTg T 87 G-37. FfaRaa & @ fraer adm Semmt
(NW)-1 = fean man 27

(A) 25 ﬁﬁo Iﬁo (A) Wﬁm—%—@lﬁ
(B) 50 fFo o (B) ¥eTreree—giesan
(C) reTgw-lgH
(C) 75 oo o (D) I & @ uF & s
(D) T § & v & (E) 3% 5 & e 7l
fopam T 27
(A) 8
G-35. 31d A HI oarg fohaHt 27 (B) 12
(A) 9-02 fho Hio (€10 .
(D) 37w § 4 & U Afw
(B) 9-8 fho o (E) 39w ¥ 4 HIE T
(C) 10-08 o o G-39. YA % YUH FH=T ot UTEueEd uiEe
’ Jeah 1 AT FaTE |
(D) 37w # & o & sferep (A) -
(E) Wﬁﬁaﬁéﬁ (B) 31@H—pMYL
(C) Temerdi-faetiye
(D) 37w W 4 & ° Aleh
G-36. WWWWW@?—W%? (E) Wﬁﬁaﬁ’gqﬁ
(&) gt G-40. 1855 # wid # weeh w2 fiw fhw
B 4 T IR TTfUd i TS off?
(A) gt
(C) wEE (B) @R
(D) 37 # & w4 3t ) T .
(D) 3w H & TF | ik
(E) 3T & & =15 7 (E) I & & *1E
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E-1.

E-2.

E-3.

PART—III

( ECONOMICS )

India’s per capita net national
income (at current prices) in
the year 2022-23 was

(A) ¥1,62,000

(B) ¥1,70,000

(¢) ¥1,72,000

(D) More than one of the above
(E) None of the above

Which of the following concepts
of unemployment estimate has
developed by the NSSO in India?

(A) Usual status unemploy-
ment

(B) Current weekly status
unemployment

(C) Current daily status
unemployment

(D) More than one of the above
(E) None of the above

Which one of the following

poverty alleviation programmes

was started in earlier phase in

India?

(A) Integrated Rural Develop-
ment Programme

(B) Mahatma Gandhi National
Rural Employment Guar-
antee Scheme

(C) Swarna Jayanti Gram

Swarozgar Yojana
(D) More than one of the above
(E) None of the above
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E-4. According to NFHS-5 survey,
which State of India was
maximum multi-dimensionally
poor?

(A) Uttar Pradesh

(B) Bihar

(C) Jharkhand

(D) More than one of the above
(E) None of the above

E-5. What was the percentage
proportion of multi-dimensional
rural poverty in India in
2019-21?

(A) 19-28 percent

(B) 32:59 percent

(C) 5:27 percent

(D) More than one of the above
(E) None of the above

E-6. What is the cause of improve-
ment in multi-dimensional
poverty in India?

(A) Improvement in nutrition
(B) Sanitations
(C) Cooking fuel
(D) More than one of the above
(E) None of the above
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PART—III
( ECONOMICS )

E-1. 99§ 2022-23 # wrd I ufd =af® E-4. Tdo Tko TUgo TUHo-5 HAHW <k

E-2.

E-3.

Y2 T ™ (Id9 fHal W)
_ o

(A) €1,62,000

(B) €1,70,000

(C) ¥1,72,000

(D) 3w H & TF ¥ ik
(E) Swith # & =18 7

IRd § SUSFI 1 STgAF @TH
fu form sragmon w1 T @
T Tireq g faeefa fepam mn?

(A) wm= feufa stsmd

(B) FdHM HTees feufa st
(C) =dam sfres fedrfar sRisrTRY
(D) 37w U 4 T U Afw

(E) 39w 8§ & *I8 e

IRd H U WO H M| TR
I %A & AT Y

(A) WEhIRa TTHIT foeRE Rl

(B) weredr Tieft ugiE O SR
R 3 FisHT

(C) wavl St I RIS AISHT
(D) 3w H ¥ TF | ik
(E) 39 § ¥ &g T
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E-5.

E-6.

IGAR, WRa U fFa T=a # waifiew
Tg-AEE T A7

(A) I Y=

(B) forem

(C) sr@ T

(D) 37w § § TF ¥ M
(E) 39w 8§ & *I8 e

IRd H Sg-AEmE amier et W
fcRrd W1 2019-21 # 1 o7

(A) 19-28 e

(B) 32-59 ufaera

(C) 5-27 ufdwa

(D) 39 H € TH ¥ AF
(E) 3wtk # & 18 7

A | 9g-3TTH] T § gumr 1 Fa
HR 7

(A) IS H gUR

(B) Tl

(C) WM T &1 g

(D) 37w U & T U Afw
(E) 3wtk # & *1$ 7
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E-7.

E-8.

E-9.

Which of the following sectors
contributed maximum in Gross
State Domestic Production in
Bihar in 2021-227?

(A) Primary sector

(B) Secondary sector

(C) Tertiary sector

(D) More than one of the above

(E) None of the above

What was the Credit-Deposit
ratio of Bihar in 2021-227?

(A) 41-2 percent
(B) 442 percent
(C) 721 percent
(D) More than one of the above

(E) None of the above

Which of the following is
related to human development
in Bihar?

health
increases
11 times and 8 times
respectively in 16 years

(A) Expenditure on

and education

(B) Life expectancy in Bihar is
695 years

(C) Institutional delivery
increased from 22 percent
to 76-6 percent

(D) More than one of the above

(E) None of the above
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E-10.

E-11.

E-12.

What do you understand by
cropping intensity?

(A) Raising of a number of
crops from the same field
during one agricultural
year

(B) A number of crops from
the many fields

(C) One crop from the different
fields

(D) More than one of the above

(E) None of the above

The growth rate of Bihar in
2021-22 was

(A) 8:68 percent

(B) 11-43 percent

(C) 10-98 percent

(D) More than one of the above

(E) None of the above

What was the estimated
population of Bihar in 20227?

(A) 10-49 crore
(B) 11:49 crore
(C) 12:49 crore
(D) More than one of the above

(E) None of the above
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E-7. 2021-22 ¥ fo@R & ¥ohal TsT =

E-8.

E-9.

3 U o &3 W waifyes Jen
oqre

(A) afies &=

(B) T &

(C) Fdfrers &m

(D) 3w H ¥ TF ¥ ik
(E) 30w & 4 =g 7

fo@R 1 2021-22 # FU-SMT TFAT
T oAT?

(A) 41-2 gfera

(B) 44-2 yfawra

(C) 72-1 gfqwra

(D) 37w H § TF ¥ Al
(E) 37 o & 18 T

fefafaa & 9 #F-a1 fogr & qma
formg @ gefea 27

(A) 16 aui ¥ @ @ e W ==
A 11 A1 TF 8 I 9T @

(B) ToerR & Sfted gemm &« 695
ELld

(C) T od 22 Ufaed & FEaht
76-6 fded & T 8

(D) 3IWw H & TF | ik
(E) ST 9 4 i 7
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E-10.

E-11.

E-12.

T TeAdT © 379 1G9 27

(A) T Td FH HY &l # wE &
W ¥ TS BEA! I AT

(B) =% @di ¥ g HHA Hl JTHT
(C) fafira wai @ us & waer 3T
(D) 37w ¥ 4 & ° Afw

(E) 3w § ¥ I8 T

foer it 9fg € 2021-22 # of
(A) 8-68 ufdwm

(B) 11-43 ufqera

(C) 10-98 fcera

(D) 3T U 4 T U Afus
(E) 39w o & 18 T

foer &t 2022 # gHG SHEE
RN

(A) 10-49 =g

(B) 11-49 #g

(C) 12:49 s

(D) 3T U 4 T U Afus
(E) v & 4 =g 78
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E-13.

E-14.

E-15.

Increase in the level of output
of the economy is achieved
through

(A) greater
opportunity in the economy

employment

(B) employing better technology
(C) Both (A) and (B)
(D) More than one of the above

(E) None of the above

What was the productivity of
millet per hectare in Bihar in
2021-22?

(A) 5148 kilograms per
hectare

(B) 5098 kilograms per
hectare

(C) 5245 kilograms per
hectare

(D) More than one of the above

(E) None of the above

Less employment of females in
comparison to males is an
indication of

(A) economic backwardness
(B) social backwardness

(C) Both (A) and (B)

(D) More than one of the above

(E) None of the above
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E-16. Which one of the following is
not near money?
(A) Bond
(B) Debenture
(C) Demand deposit of banks
(D) More than one of the above
(E) None of the above
E-17. “Money is a basis of store of
value.” This function of money
is
(A) primary function
(B) secondary function
(C) contingent function
(D) More than one of the above
(E) None of the above
E-18. Which of the following is
correct?
(A) Money is the backbone of
capitalistic system
(B) Money is a means of
capital formation
(C) Money is a link between
present and future
(D) More than one of the above
(E) None of the above
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E-13.

E-14.

E-15.

STefaET o IM3eYE TR H Fha foraeh
I T T ST 27

(A) sdFawen § TSR & Al
IEL gRT

(B) dea® Senfireht =t fanfera s
(C) (A) T (B) gH

(D) 37w U 4 & U Afusw

(E) 3w & & &S T

foer d Wi sHm f ufa qHRsw
IcTEehdr 2021-22 | 1 off?

(A) 5148 fRo Tmo ufe FwRW
(B) 5098 fo Uo Ufd geaR
(C) 5245 o Tmo gl FHW
(D) 37w | T ° Afeh
(E) v o 4 =g 7

TESl o Yl HiGeATsl 1 HH TSR
H 2T Hohd T B

(A) el e

(B) @R frwer

(C) (A) w (B) &

(D) 3w H & T | ik
(E) 3% # & hIg T
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E-16. fmfafaad § & wF-df afeke gz 7=t

E-17.

E-18.

27

(A) & E

(B) OT-TA

(C) SRl T WhT S

(D) 3T U 4w U Afusw
(E) 3udeh & & *18 7
U1 U W HT AER BN g
IR

(A) wafien Rt

(B) T s

(C) =AThfgrh wr

(D) 37w U & T U Afw
(E) 30 o & 18 T

frfafiaa & @ #=-ur w87
(&) gar st somedt it die
(B) gzt dsfi-fmfor =1 @nem 2

(C) H&1 JqH™ ol wfasr & i Tw
S

(D) 37w 4 & U Afw
(E) 30w | ¥ *I5 T
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E-19.

E-20.

E-21.

E-22.

In which of the following years
the Banking Regulation Act
enacted in India?

(A) 1935
(B) 1947
(C) 1949

(D) More than one of the above
(E) None of the above

The first step in the direction of
globalization was

(A) movement of capital

(B) trade in goods and services
(C) flow of finance

(D) More than one of the above
(E) None of the above

What was the main purpose of
‘Washington Consensus’?

(A) To control State economy

(B) Privatization and liberal-
ization of the State-owned
companies

(C) To promote
intervention

government

(D) More than one of the above
(E) None of the above

Investments on skills, expertise
and knowledge of people in a
nation is referred to as

(A) capital formation

(B) human capital formation
(C) financial capital formation
(D) More than one of the above
(E) None of the above
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E-23. When is ‘World Consumer Day’
observed?
(A) 15th February
(B) 15th March
(C) 15th January
(D) More than one of the above
(E) None of the above
E-24. How many tier system
envisages the Consumer
Protection Act, 2019 to redress
consumer disputes?
(A) One-tier
(B) Two-tier
(C) Three-tier
(D) More than one of the above
(E) None of the above
E-25. Which of the following is not a
cooperative principle?
(A) Democratic control
(B) Right to vote
(C) Self-help through mutual
help
(D) More than one of the above
(E) None of the above
E-26. Which of the following is lower
level of agricultural credit
societies in India?
(A) Primary Agricultural Credit
Societies
(B) Central Cooperative Bank
(C) State Cooperative Bank
(D) More than one of the above
(E) None of the above
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E-19.

E-20.

E-21.

E-22,

o 9 dfen e srfafem g ad
T ST Y

(A) 1935

(B) 1947

(C) 1949

(D) 3w H ¥ TF | ik
(E) 3wtk # & *1$ 7

Jyeftertor St fasm § ugdn em ot
(A) USt T STERHA

(B) =&g3Ti Ud e § SR

(C) T =1 wame

(D) 3IWw H ¥ TF ¥ ik

(E) Swith # & =g 7

frefafaa o @ ‘Sifiered weafa’ =

T I3 HT 17

(A) TST rfeawen & FEla we

(B) TSA it TATMHc aTelt HEAf=I
Frsfiertor T IR s

(C) HTHHl BEAET I TicHTe

(D) 37w W | T ° Aleh

(E) 3w & & g el

Y & N o I, TaRIosar 3 =
T frasr 1 et S 2

(A)  gsft-fomfor

(B) wHa dsft-fmfor

(C) forcfra ght

(D) 3IWw H ¥ TF | ik
(E) Sujth o @ g T
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E-23.

E-24.

E-25.

E-26.

“forga SuvieT fea@’ el AT STt 27
(A) 15 %=

(B) 15 ==

(C) 15 Sadt

(D) 37w § 4w U Afus

(E) 3wtk # & *1g 7

JUMRET Wew faftem, 2019 H
g o faamel & femm & fou
fora T f gomeft it giEmeaT i
TE?

(A) TH-EHEF

(B) fg-wl=

(C) Tr-wam

(D) 3Ww H & TF | ik

(E) 3w 8§ & *18 e

ffafga @ @ S9-a1 geFRar =
g & 8 7

(A) ISTa=T e

(B) dIE qH I AR

(C) It TERIAT ¥ T -Hgrrdl
(D) 37w W 4 & ° Afeh

(E) 39w 8§ & 18 e

freafaflas & @ wra & H o
afufaat = e o we-ar 27

(A) wrfier Y arg afufa

(B) 5 TEHRI o

(C) TST TEFRI a

(D) 37w § & T ¥ Afs

(E) 3% & & hrg 72
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E-27.

E-28.

E-29.

E-30.

When was the Human Rights
Commission established?

(A) 1944
(B) 1945
(C) 1946

(D) More than one of the above
(E) None of the above

Which of the following provides
refinance facilities to cooperative
banks in India?

(A) The Reserve Bank of India
(B) NABARD

(C) The Central Bank of India
(D) More than one of the above
(E) None of the above

When was the Human Rights
Conservation Act passed in
India?

(A) 18th December, 1993

(B) 18th December, 1992

(C) 18th December, 1994

(D) More than one of the above
(E) None of the above

Which of the following United
Nations Conferences accepted
human rights for rights of
women?

(A) Beijing-Vienna

(B) Beijing-Moscow

(C) Vienna-New York

(D) More than one of the above
(E) None of the above

23/MAV/M-2023-10/S3 (S)/117-A

E-31.

E-32.

E-33.

Which of the following
statements is not correct?

(A) 1950 to
was less
industrial.

1990 decade
comparatively

(B) Growth rate decreased in
1980 decade.

(C) Service sector’s growth
promoted agricultural and
industrial sectors.

(D) More than one of the above

(E) None of the above

Which services have grown

rapidly in Indian economy after
1991?

(A) Business services

(B) Communication services
(C) Banking services

(D) More than one of the above

(E) None of the above

What is the main reason for
rapid services growth in the
Indian economy in recent
years?

(A) Splintering

(B) Demand-side
growth

impetus to

(C) Role of policy liberalization
(D) More than one of the above

(E) None of the above
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E-27.

E-28.

E-29.

E-30.

HHETERR ST 31 TATIAT e 85 ¢
(A) 1944

(B) 1945

(C) 1946

(D) 37w W | & ° Al

(E) 3ueh & & *18 7

G § HEhil SRl ol GAfa i glaen
i a1 27

(A) Tiord S 2w Sfen
(B) e

(C) e da 31 Ffean
(D) 3Ww H ¥ T ¥ ik
(E) Swith # & =g 7

T | AHTSeRT Geur AT &
qriea e man?

(A) 18 feumr, 1993
(B) 18 feumr, 1992
(C) 18 feumar, 1994
(D) 37w U | & U Afus
(E) 3wtk & & *18 7

HigeT AfRRT I AHETEHR & &9
fore Ok TgHH o wFeH § AT €
TE?

(A) St

(B) shfsm—utent

(C) TommT——gish

(D) 30w H ¥ TF | ik

(E) 3udeh & & & 7
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E-31.

E-32.

E-33.

frefarftaa & @ F-|1 %o w8 Tt
27

(A) 1950 ¥ 1990 & <& H
siEnfr &9 H Hafg w®
eI FH off |

(B) 1980 o @@/ H Hgfg & | &l
AT |

(C) T &= I §gfg ¥ HY T 3
&=t =l oft Treare fiem)

(D) 37w § 4 & ° Afereh
(E) 39w 8§ @ *1g e

IR Sreferaeen § 1991 & amg fod
Faratt & TaTRd A Tahs ga v

(A) =R dard

(B) =R Had

(C) ek Hard

(D) 37w 4 4 T U Afsw

(E) 3w & & &5 T

T & % Il H W srefeuewn &
T &7 T st ¥ Hafg 1 T R0 T

(A) fafesa

(B) Wi u&t il 3R A Tfig 1 IS
(C) ifa Iarierwor it e

(D) 3w H & TF | ik

(E) 3wtk # & *1$ 7
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E-34.

E-35.

E-36.

E-37.

Which sector has the highest
contribution in gross domestic
product in 20217

A) Primary sector

B) Secondary sector
) Tertiary sector
D) More than one of the above

(
(
(e
(
(E) None of the above

Bihar Finance Minister, Vijay
Chaudhary presented a budget
of how many rupees for
2023-24?

(A) ¥2,60,500 (crore)

(B) ¥2,70,500 (crore)

(C) ¥2,61,88540 (crore)

(D) More than one of the above
(E) None of the above

What was the place of India
in foreign direct investment
according to the  World
Investment Report, 20227

(A) Sixth
(B) Seventh
(C) Eighth

(D) More than one of the above
(E) None of the above

Which of the following is not
a label of automated teller
machine (ATM)?

(A) Brown label ATM

(B) White label ATM

(C) Bank-owned ATM

(D) More than one of the above
(E) None of the above

23/MAV/M-2023-10/S3 (S)/117-A

E-38.

E-39.

E-40.

Find the odd one out among
the following.

(A) State Bank of India

(B) Punjab National Bank

(C) Reserve Bank of India

(D) More than one of the above

(E) None of the above

Commercial Banks normally do
not pay any interest on

(A) demand deposits

(B) short-term deposits

(C) time deposits

(D) More than one of the above

(E) None of the above

The RBI needs to control the
supply of credit in an economy
because

(A) credit is not a good sign of
a healthy economy

(B) credit may expose bank
customers to unnecessary
risks

increase in
prove

(C) uncontrolled
credit may
inflationary

(D) More than one of the above

(E) None of the above
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E-34.

E-35.

E-36.

E-37.

gl B 3E § 2021 # fRE &w
1 AR Fiiersh o1?

(A) Tt &=

(B) fedre &=

(C) el &t

(D) 3T U & & U s
(E) 3w 4 9 5 T

foer & fowsft, fosm e 3
2023-24 % fau fohad T 1 a9
s feRa?

(A) ¥2,60,500 (s H)

(B) ¥2,70,500 (g H)

(C) ¥2,61,885:40 (F< H)

(D) 3w H ¥ TF ¥ 3l

(E) 3T 4 4 5 7

fawa faw fOE, 2022 % 7R,
qRd 1 Yoged foeeft faw & & wm
oar?

() waat

(B) ®raat

(C) e

(D) 3Ww H ¥ TF ¥ ik

(E) 3T 4 9 & 7

ffafaa & @ wF-ar erfidwee e
3 (To o THo) ol afiewor &t
27

(A) ST Tt To o o

(B) w3 el To o THo

(C) e %1 AT To o THo

(D) 3w H ¥ TF ¥ ik

(E) 3wtk # & *1$ 7
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E-38.

E-39.

E-40.

frfafaa # 9 smfaa = sy
(A) e 9% AT sfem

(B) USITl ATFSA sk

(C) Tid s 31w fea

(D) 37w 4 & U Afw
(E) 39w o & 18 T

IUIfes s O &9 O SFS A8
o

(A) HIT ST W

(B) STcUshIcia ST W

(C) wHF SmHTT W

(D) IW® 4 & TF 4§ A

(E) 3w | & g T2

ford S aAre 3fen @ rdfeuawen ®

g H# o9 W feem w A

ATl Bidl 2, Fifh

(A) TR IT= AfITET FHI Tehd
B

B) wra ¥% F wew ¥ fau
ST SINaH YT F Tl @

(C) @ma & rfEha gfg whfawd @
Gerdl B

(D) 37w 4 & ° Afw
(E) 30w | ° *I5 T
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P-1.

P-3.

PART—III
( POLITICAL SCIENCE )

attained
White

Which country
independence from
minority rule in 19807?

(A) Zimbabwe

(B) Belgium

(C) Fizi

(D) More than one of the above

(E) None of the above

Which is not a valid argument
against democracy?

(A) It leads to instability

(B) It leads to corruption

(C) It causes delay

(D) More than one of the above

(E) None of the above

Which country does not follow
Universal Adult Franchise?

(A) Estonia

(B) Fizi

(C) Saudi Arabia

(D) More than one of the above

(E) None of the above

23/MAV/M-2023-10/S3 (S)/117-A

P-4.

P-6.

Who presided over the first
meeting of the Constituent
Assembly?

(A) Jawaharlal Nehru

(B) Dr. Rajendra Prasad

(C) Sachchidananda Sinha
(D) More than one of the above

(E) None of the above

India is a Democratic Republic
because the Constitution of
India has provided for

(A) an elected President

(B) an Adult Franchise

(C) an elected Parliament

(D) More than one of the above

(E) None of the above

Powers shared among different
organs of the government is
known as

(A) division of powers

(B) separation of powers

(C) decentralization of powers
(D) More than one of the above

(E) None of the above
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PART—III

( POLITICAL SCIENCE )

P-1. 1980 # frm 291 3 #d 31y P-4. GAuM |97 Sl YA o3 i eIl
IMEA | e T 7 fope 17
(A) e (A) ST Tew
(B) sfcsrm (B) <o Tig THTE
(C) forsh (C) afaem= fimr
(D) 39w § @ T A ek (D) 3w § & T § Al
(E) 3o & & g (E) 37w & & i3 7
P-2. WA ¥ freg F-a 49w T 27 P-5. WRA TH SWICE TR &, FHlE
TR Gfaem 3 e $i g

(A) =& AFERaT 1 3 o S 8 a) it .

(B) & YEER 1 AR o ST 2

(C) 0@ < &t B

(B) %k HATET ohi

(C) fatfaa wog it
(D) 3w H ¥ TF | ik (D) v @ T @ s
(E) 37w & & F1 Tf (E) 30w & & =18 =
P-3. FN-HI ¥ WAAF TR FATHT P-6. @R ¥ Rfm o # whed #
T SR TH FT 87 SECUE L
(A) TR (A)  wfREE B FrT
(B) fosht (B) ifeRai AT geraor
(C) wdl 3 (C) wifwat =t feRptartor
(D) 3Ww H ¥ TF | ik (D) 3w § | T ¥ 3feek
(E) 393 # @& I8 e (E) Swith # & =g 7
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P-7. The National Human Rights

P-8.

Commission

(A) is a statutory body

(B) was established in 1993
(C) is a multimembered body
(D) More than one of the above

(E) None of the above

Who called the Right to
Constitutional Remedies the
‘heart and soul’ of our
Constitution?

(A) Mahatma Gandhi

(B) Dr. B. R. Ambedkar

(C) Jawaharlal Nehru

(D) More than one of the above

(E) None of the above

Lanka
independent

In which year, Sri
emerged as an
country?

(A) 1949
(B) 1956
(C) 1946
(D) More than one of the above

(E) None of the above

23/MAV/M-2023-10/S3 (S)/117-A

P-10.

P-11.

P-12.

The minimum age to become
the member of the Gram Sabha
is

(A) 21 years
(B) 18 years
(C) 25 years
(D) More than one of the above

(E) None of the above

The term of the Council of
States is

(A) S years
(B) 6 years
(C) Itis a permanent chamber
(D) More than one of the above

(E) None of the above

Which Constitutional Amend-
ment Act provides for
33 percent reservation of seats
for women in the Lok Sabha
and in the State Legislative
Assemblies?

(A) 106th
(B) 128th
(C) 73rd

(D) More than one of the above

(E) None of the above
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P-7. TP HHATEHR TR

P-8.

P-9.

(A) U Hifafers fem 2

(B) 1993 ¥ wrfud gam o

(C) U sgHewa fwm &

(D) 39T ¥ TF ¥ IAH

(E) 30w & & 18 T

‘Gaefaeh STER % R R fRE
?ﬁﬁww‘a&aaﬁxw’w
(A) HETcHT et

(B) Tfo fto 3o 31mIEs

(C) SHETEET HEw

(D) 37w U & & U Afsw

(E) 393 | 9 &8 7

forg a9 sficioht U ToaT e & w9 A
Afedea & sTR?

(A) 1949

(B) 1956

(C) 1946

(D) 3IWw H & TF | ik
(E) 3% # & Ig T
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P-10.

P-11.

P-12.

TH |1 A G T o Q=
g 7

A) 21 =

(B) 18 @d

(C) 25 =

(D) 3T 4 4 T U s
(E) 39 o & 18 T

ST AT T R 8

(A) 5o

(B) 6 =

(C) IE UH TorEf Hed B
(D) 37w U 4 T U Afeh
(E) 3wtk # & 18 7

FE-G1 GO GIieE AftEm
E T U T foum wmed #
afgenet & fau 33 ufdwa el &
STREIOT <hl SHEET Tl 27

(A) 106at

(B) 128af

(C) 73at

(D) 37w 4 | T U Afw
(E) 3udw & 4 =g 78
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P-13.

P-14.

P-15.

P-16.

In which year was Electors
Photo Identity Card introduced
in India?

(A) 1991
(B) 1989
(C) 2004

(D) More than one of the above
(E) None of the above

In the division of legislative
powers between the Union and
the States, the Union is more
powerful because

(A) it has more number of
powers

(B) it has important powers
(C) it has residuary powers
(D) More than one of the above
(E) None of the above

Bharatiya Janata Party was
founded in

(A) 1951
(B) 1980
(C) 1998

(D) More than one of the above
(E) None of the above

In India, the most important
factor affecting
behaviour is

voting

(A) language

(B) religion

(C) caste

(D) More than one of the above
(E) None of the above

23/MAV/M-2023-10/S3 (S)/117-A

P-17.

P-18.

P-19.

The Indian
comprises of

(A) the Lok Sabha and the
President

(B) the Lok Sabha and the
Rajya Sabha

(C) the President, the
Sabha and the
Sabha

Parliament

Lok
Rajya

(D) More than one of the above

(E) None of the above

The tenure of the Indian Prime
Minister is

(A) till the pleasure of the
President

(B) so long as he/she enjoys
the support of the majority
of the Lok Sabha members

(C) indefinite
(D) More than one of the above

(E) None of the above

Which Article of the Indian
Constitution provides that ‘the
superintendence, direction and
control of elections to be vested
in an Election Commission’ ?

(A) 324
(B) 289
(C) 329
(D) More than one of the above

(E) None of the above
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P-13.

P-14.

P-15.

P-16.

Fratas ®iel TeaH-17 # 9Ra § e
ELRSIURERIRIRIK

(A) 1991

(B) 1989

(C) 2004

(D) 37w ¥ ¥ & ° Al
(E) Swfth d & 1§ 7

o qur UsAl o s fagrh it
F fovrE o, g9 orfue wiwee 2,
Hifeh

(A) zH Ut Aferes T | wifwat @
(B) 3H% UM HEwqUl WRHAT ©

(C) 3HS UM Y ATHAT &

(D) 37w U & T ¥ Afw

(E) 3wt # 9 i &

TRATS ST q1eT oht T 8%
(A) 1951 %

(B) 1980 #

(C) 1998 #

(D) 3T U & & U s
(E) 3w # & =g 7

qRd H, AdeH JagR ol JuTfad
T HATTHeF W0l L §

(A) ST

(B) e

(C) wfd

(D) 37w § | T ¥ Afw
(E) 3udeh & @ &5 7
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P-17. Y9RAH™ €88 § 9 2id &

P-18.

P-19.

(A) e @ TE At

(B) I |eT U T AAT

(C) Trmufd, ek AT TF [T G
(D) 37w § § TF ¥ M

(E) 3w & & g T

qRA % YLHHA 1 FRIH 2
(A) Tgufd &I T=a1-wE

(B) & d% 3W olieh WA % HeHl
SgHd 1 THdH ITH 8l

(C) =rfafyea
(D) 37w § 4 T ¥ Afw
(E) 30w | § %15 T

IRAE |9 &1 HH-91 gos8 I8
=EE wal g f FEtER o
steftequr, Frewm siR fremwr fafem
s # fafed gmm'?

(A) 324

(B) 289

(C) 329

(D) 37w 4 & & U Afw
(E) v & 4 g 7
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P-20. Which of the following group of

P-21.

P-22.

P-23.

States have more than 40 Lok
Sabha Constituencies each?

(A) Uttar Pradesh,
Maharashtra, Bihar

(B) Uttar Pradesh,
Maharashtra, West Bengal

(C) Uttar Pradesh,
Maharashtra, Tamil Nadu

(D) More than one of the above
(E) None of the above

The Right to Information Act
passed by the Indian
Parliament in the year

(A) 2009

(B) 1986

(C) 2005

(D) More than one of the above
(E) None of the above

was

Gram Panchayat is accountable
to which of the following?

(A) Panchayat Samiti

(B) Zilla Parishad

(C) Block Development Officer
(D) More than one of the above
(E) None of the above

Justice M. M. Punchhi
Commission is related to

(A) Electoral Reforms

(B) Union-State Relations

(C) Local Self-Government

(D) More than one of the above
(E) None of the above

23/MAV/M-2023-10/S3 (S)/117-A

P-24.

P-25.

P-26.

P-27.

In a federal setup, there must
be

(A) Written Constitution

(B) Rigid Constitution

(C) Supremacy of the
Constitution

(D) More than one of the above

(E) None of the above

In India, the Council of

Ministers includes

(A) Cabinet Ministers

(B) Ministers of State

(C) Deputy Ministers

(D) More than one of the above
(E) None of the above

The Eleventh Schedule of the
Constitution relating to the
Panchayati Raj contains

(A) 29 Subjects
(B) 18 Subjects
(C) 33 Subjects
(D) More than one of the above

(E) None of the above

Who is the current Chairman
of the National Human Rights
Commission?

(A) Justice Ranganath Mishra
(B) Justice J. S. Verma

(C) Justice
Mishra

(D) More than one of the above
(E) None of the above

Arun Kumar
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P-20. fHfdfad § @ ®H-9 TH-wg H

P-21.

P-22.

P-23.

Ycdeh UsT oh olieh gWl (ei=a &
1 g=a 40 9 i 27

(A) 3| YT, WERTY, foer

(B) 3 Yo, HERTY, ufvad smre
(C) I I, HERTE, AT
(D) 3IWw H & TF ¥ ik

(E) 3T 4 9 5 T

I T ERR rfafEm @l AR
TEE g uTia fopam

(A) 2009 #

(B) 1986 ®

(C) 2005 #

(D) 30w H ¥ TF ¥ i
(E) 39 o & I8 T

T g fefafad § @ e ufa
Ieerl 37

(A) v Ak

(B) fstem afteg

(C) @ s fawm Aferrt

(D) 3IWw H ¥ TF ¥ ik

(E) 39w 8§ & *18 e

T o THo Bl RN W
qray B

(A) Tratem g gaw |

(B) F5-Tsd TEl |

(C) T TEemeH o

(D) 37w W | & ° Aleh

(E) 3wtk # & *1g 7
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P-24.

P-25.

P-26.

P-27.

T S § ey §
(A) Tafea afaam

(B) #oR Giaad

(C) dfaem it watwrar
(D) 39w H § TF ¥ M
(E) 3wtk # & *1$ 7

IRd #, HEufog ¥ witd 29 8
INBCIEECRFi]

(B) T wft

(C) 3u-wH

(D) 37w H § TF ¥ M
(E) 3wtk # & *1$ 7

TERE TS O gEfea wfeum A
HREd] gt #§ i &

(A) 29 fowx

(B) 18 faw=

(C) 33 fawx

(D) 37w U & T U Afs

(E) 3udeh & & *18 7

TJIE § T AEETRER A %
31ETET B 27

(A) =mfd Ty e
(B) =mmfd Sto TEo =
(C) —mrfd 7w FuR fHen
(D) 39w H § T* ¥ M
(E) 3wtk # & *1$ 7
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P-28.

P-29.

P-30.

When election is held before
the expiry of the normal term of
the legislature, it is called

(A) Mid-term Election

(B) By-Election

(C) General Election

(D) More than one of the above

(E) None of the above

A democratic government is a
better government because

(A) it is more accountable

(B) it improves the quality of
decision making

(C) it enhances the dignity of
citizens

(D) More than one of the above

(E) None of the above

Which of the following is a false
statement about the Mandal
Commission?

(A) It was headed by B. P.
Mandal.

(B) It presented its report in
1980.

(C) Its recommendations were
implemented in 1990.

(D) More than one of the above

(E) None of the above

23/MAV/M-2023-10/S3 (S)/117-A

P-31.

P-32.

P-33.

P-34.

In India, the voting age
was reduced from 21 years to
18 years by which one of
the following Constitutional
Amendment Acts?

(A) 61st

(B) 65th

(C) 74th

(D) More than one of the above
(E) None of the above

The Election Commission of
India

(A) is an autonomous body
(B) is a constitutional body

(C) was established on 25th
January, 1950

(D) More than one of the above
(E) None of the above

how
Rights

recognized by the

Constitution?

(A) Six

(B) Seven

(C) Ten

(D) More than one of the above
(E) None of the above

Originally,
Fundamental

many
were
Indian

The function of the political
party is

(A) to mobilize public opinion
(B) to provide policy options
(C) to capture political power
(D) More than one of the above
(E) None of the above
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P-28. <& fautfem = 9m= Swie 99

P-29.

P-30.

B ° qd g BT 8, A 38 el S
2

(A) TeA-IFEY A=

(B) 39-g=

(C) ™ g

(D) 30w H ¥ TF | ik
(E) 39w 8§ & *18 e

Tsh ST TR SEd R g,
E2NED

(A) ¥ iferh IererEf B

(B) ¥ Fofa-Fmior i Toremn § guw
Eauild

(C) IE TRt <l i it serdt 2
(D) 3IWw H ¥ TF ¥ ik

(E) 30w | ° *I5 e

Ted M & oR #, fafafea @ @
HI-HT HIYT 3HA 27

(A) k! sregeran sfto o Hewt g
#hl T |

(B) 3o+ 1oft fraid 1980 # wa
Eal

(C) zHeh! FawIi=l H1 1990 H AW
[ExIRe

(D) 37w ¥ | & ° Afuh
(E) 3% 4 9 & T

23/MAV/M-2023-10/S3 (S)/117-A

P-31.

P-32.

P-33.

P-34.

IRd H, AaaE 6 g 21 a9 ¥ FH
18 99, ffaflga 4 @ form =
Haenfer g At g i 1

(A) e61af

(B) 65at

(C) 74at

(D) 3T ¥ 4 T U Afus
(E) 3wt # & ié T

IR &1 et 3w
(A) T TR e
(B) T "awteh fipm &

(C) = 25 SH=RI, 1950 = Tfyq
Rk

(D) 37w § 4 & ¥ Afw
(E) 3T | ¥ 18 T

i &9 ¥, TR Gfae™ Ry forad
et 3Tferepr =t AT=raT €t TS ?

(A) 3:

(B) @

C) ==

(D) 37w § ¥ & ¥ M
(E) 3wtk & & 18 7

TSHITAh &t T S 2

(A)  STHT T

(B) fifa faerew wem e

(C) TsHifaeh itk W eell AT
(D) 37w § 4 T ¥ Afw
(E) 3wtk # & 18 7
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P-35.

P-36.

P-37.

The State religion of India is
(A) Hinduism

(B) Buddhism

(C) Jainism

(D) More than one of the above

(E) None of the above

Which of the
freedoms is not available to an
Indian citizen under the
Constitution?

following

(A) Freedom of Speech and
Expression

(B) Freedom to form Asso-
ciations and Unions

(C) Freedom to reside in any
part of the country

(D) More than one of the above

(E) None of the above

The slogan of ‘Garibi Hatao’
was given by the Congress
Party in which of the following
Lok Sabha elections?

(A) 1977
(B) 1967
(C) 1971

(D) More than one of the above

(E) None of the above

23/MAV/M-2023-10/S3 (S)/117-A

P-38.

P-39.

P-40.

Who appoints the Chief Justice
of the Supreme Court in India?

(A) The Prime Minister

(B) The Cabinet

(C) The President of India

(D) More than one of the above

(E) None of the above

In modern times which country
was the first to give women
voting rights?

(A) England

(B) New Zealand

(C) United States of America
(D) More than one of the above

(E) None of the above

Which one of the following is
not a Regional Political Party?

(A) National Conference

(B) Indian National Lok Dal
(C) Haryana Vikas Party

(D) More than one of the above

(E) None of the above
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P-35.

P-36.

P-37.

TRA 1 Teled B

(a) feg

(B) s

(C) =

(D) 37w U | & U Afsw
(E) 3ueh & & *18 7

giaa™ & i, WRAE AN
frefaftge @ 9 FE-H Tdaar 9w
T 77

(A) T AR sfreafE Y T
(B) U™ I THE™ M I TEaad

(C) <=1 & forelt off w1 & Fam@ =
EARSLERI

(D) 37 | § TF ¥ A

(E) 37w & | =g 7
HE e T T gers . w AW
frfafad 9 @ fra dras gaa |
[ERIRIDIN

(A) 1977 ®

(B) 1967 ®

(C) 1971 #

(D) 37w ¥ 4 & ° Afeh

(E) ST # & i Tl

23/MAV/M-2023-10/S3 (S)/117-A

P-38.

P-39.

P-40.

Tar AR o gEd AETE i
g i e 27

INEREICLE]

(B) #fm &

(C) e =it Tt

(D) 39 | § TH ¥ A
(E) 39w o & I8 T

yis T W fR 9w A Hemem
afgenstl 1 wdaH 1 IRER YSH
fa?

(A) ¥

(B) =pfict

(C) Iees Reu A i
(D) 37w § 4 T ¥ Afew
(E) 3wtk # & *1$ 7

frefafaa 4 @ F9-w asfim aoifaes
T &l 27

(A) AT FREH

(B) 3feTa Azmat ok &
(C) s o it
(D) 37w 4 & & U Afsw
(E) v & 4 =g 78
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9T % ST I W Uge 9 for@ 1R w oA @ ug o |

10.

11.

12.

el e

. T4 Y-YfEqe § T (3TEAT), WHT S1eqgd a9 |t faere % wed 2| amnires fomm 9 sfaema, s,

refyTE Ud Ut - v v wnfte 1 wrrtees fomm % 3w 9w fawt | @ R @ T 8 g, e @ e
foro gfeem a0 ymer Afeme 2

. W1, 97 (STET) | U9 &A1 1 @ 30, 9W-11, T 21899 | U &A1 31 8 70 91 9111, sfeem o u

&I H-1 @ H-40, T-III, STl § 9% &1 G-1 9§ G-40, 9-III, 31eiore § 93 @&l E-1 # E-40 T
AET-I1I, TAA{A-I8 § I G P-1 § P-40 d% 2| 911 qom 9111 & 93 3R 3 I s ud ot o

gfsa 21

. At T F T 9 g
. TliEn e T # ATy eraft Iy -gitaeht i Wi o 3@ W TR gk S arfi ot weA-gfeaeht Ry gt

Tfsa 21 Fuen a @ foh gitaert & W & g IR st (I8 Ho 68 A 71) Wiza | 725&31{8%31?{3%%
TS AT Y ToAT SUT FIT AT WET I AT I STAT I At & ¢ | Yieaent § foREt wehw it qf U W acwTe

T T T oEen 1 T A gfer w1 e

. T U8 & IR Fgiia Tom § A9 gk savd ford | ge-gfeae WS 5w A fow)
. T % IW A % fIU sTmueht Sfteren R STem @ I Uk feR SR St SR s o yB-1 W Ruife wum @

JTUAT AT qAT 31 Torerur raga forg e 37Taeht IW Useh Sii=ll @i S |

. W WF & yg-2 W Fuifd W § o ergwHie a9 wyA-yftae di J@en A, B, C 91 D S 3

TY-GfEhT o STER U8 o FW IR IR 3AfRd 2, ¥ rafud g9 @l wrel /il @ % afa-uige WY e
FHITE, L | IR UAH W T -FIeaeht J@ett ifeha T T TUET Tera e Sifeha A W IR UAH hT @Rl
AR TE BRI

. % T % °rE ITH—(A), (B), (C), (D) ¥R (E) #0 W ¥ T 2| 376 ¥ 219 g & et Teh IW HI A 31N

IO IW TAF W IAfRT FL| IR Pl THIH 37Tk FR IW Ak H 3Afohd wEl IT W i s

. IW T A TAF T G % WA Ui g9 39 TER 91 30 e—@), B, ©, © R B T *F IW & & fou

TR I TG % hael Ueh I %1 hicit /it et & ia-urge U o fafgd = 21 veds w1 & fow Fea
I I A 3R I 0 I Tk H Fafgd | 1 ST a=eh # A T WA o T ww @ e g9 | e o g
ql ATIHT I TTAd HHT TR | ST U=k H I okl TITEd o o ToT0 shael shtedt/<iet TTE & SieA-dig— U=
w1 E A wmi| TRt off TR o wTe-ge stuan uitadd A JE R

TRA-GEdeRT | IS T HISAT AT IR HEAT BT & | TA-YIEeRT SR IT 9 I T iy § ole W ¥ a
AT T S | T & HHIIA W 3T U S1ereh i 3Tavd Wi 3 | 30 916 3TMIeh] A1 9 -gfedent 3104 a1y
oA 9 g R

I % TR A ¥ Rt weh 1 off aTe T R T S W TN o feshigER FiaTs Y S HeRd @ STYET STaeR
g g fear S wear 21

j{ﬁw@;ﬁéﬂmaﬁ 1ot ufefd § Self Adhesive LDPE Bag § T @& ¥ U /Hfie sta™ & 3I00q & wfiemmsher

|

Note : English version of the instructions is printed on the First Page of this Booklet.
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